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Core Focus on Linear Equations
Block 3 Review ~ Using Linear Equations
Name__________________________________________      Period______      Date____________

Part I – Selected Response
1. Which of the following linear equations has a negative slope? Circle all that apply.
A.  
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2.  What is the slope-intercept equation for the graph shown below?
A. 
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3.  What is the slope-intercept equation of the line with a slope of 
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 and a y-intercept of 4?
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4.  What is the slope-intercept equation of the line that goes through the points (3, 5) and (−1, 13)?
A. 
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5.  Which of the following equations is equivalent to 
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[image: image21.wmf]1

3

+

=

x

y


B. 
[image: image22.wmf]13

3

-

=

x

y


C. 
[image: image23.wmf]1

3

-

=

x

y


D. 
[image: image24.wmf]5

3

+

=

x

y


6. Which of the following two equations represent the same line? Circle both solutions.
A. 
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7.  The graph below shows the height of a flower based on the number of weeks since it was planted.  What is the linear equation representing this situation?
[image: image59.png]


           
A. 
[image: image31.wmf]x

y

2

2

+

=


B. 
[image: image32.wmf]1

2

+

=

x

y


C. 
[image: image33.wmf]x

y

2

=


D. 
[image: image34.wmf]2

+

=

x

y


8.  Which of the following equations are linear functions? Circle all that apply.
A. 
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For numbers 9a – 9c, circle YES or NO for each statement using the graph below.
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9a. The point (1, −2) satisfies 
      the inequality shown on 
      the graph.
[image: image62.png]


9b. The solutions to the 
       inequality contain the 
       points on the line.
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9c. The inequality graphed 
       represents
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10.  The origin is a solution to which of the following inequalities? Circle all that apply.
A.  
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Core Focus on Linear Equations

Block 3 Review ~ Using Linear Equations
Name__________________________________________      Period______      Date____________

Part II – Constructed Response

Graph each equation.  Clearly mark at least three points on the line.
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Write the slope-intercept equation for each graph.
5. 






6.
     Equation: ___________

     

     Equation: ___________

Write an equation in slope-intercept form using the given information about each line.
7.  slope = 
[image: image51.wmf]5

3

, y-intercept = 6





8.  slope = −3, goes through the point (1, 2)



9.  goes through the points (4, 9) and (2, 8)



Convert each equation to slope-intercept form.  Show all work necessary to justify your answer.
10.  
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13.  Is the point (−5, 1) on the line 
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?  Show all work necessary to justify your answer.
14.  A bike rental company rents beach bikes.  They charge an initial fee plus $1 for each hour the 
       bike is rented.  Chet rented a bike for 6 hours and was charged $10.  Let x represent the number 
       of hours and y represent the total cost of the rental.


a. What is the slope-intercept equation of the line that fits this information?


b. If another customer rents a bike for 4 hours, how much should he expect to pay?  Use 

                words and/or numbers to show how you determined your answer.
Graph each linear inequality.
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Determine if each graph, table or equation is linear, quadratic, exponential or inverse variation.  Explain your reasoning.
17.



Type: _______________
Reason:
18. 



Type: _______________
Reason:
19.     
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Type: _______________
Reason:
Core Focus on Linear Equations

Block 3 Review ~ Using Linear Equations
Name__________________________________________      Period______      Date____________

Part III – Problem Solving

At 3 weeks old, Sam’s puppy weighed 2 pounds.  When the puppy was 7 weeks old, he weighed 4 pounds.  If the puppy continues to grow at this rate, how much will it weigh when it is 12 weeks old?
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